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' Answer any five questions '

All questions carry equal marks

'_rl.a)' The vertex of a hyperbola is 65 mm from its focus. Draw the curve if the

eccerntricity is 3/2. Draw a normal and a tangent at a point on. the curve, 75:mm
from the directrix.
b) A point P is 30 mm and 50 mm respectively from two stralght lines which are at -
~ right angles to each other. Draw a rectangular hyperbola from P within 10 mm
distanice from each line. ' [7+8]
: OR
2. A circle of 50 mm dianieter rolls on the circumference of another mrcle of
175 mm diameter and outside it. Trace the locus of a point on the.circumference
of the rolling circle for one é61npletﬁ revolution. Name the curve. Draw a tangent

and a normal to the curve at awpom't% 125 mm from the centre of the directing
‘ | [15]
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3. A line PQ 100 mm long, 1s«mclmed at- 300 to the H.P. and at 450 to the V.P. Its
rmd—pomt is in the V.P. and 2\0 i above-the H P. draw its projections, if its end - -

Pis in the thlrd» ua&ra{lt and Q 111\1:\he first quadrant [15]
: :?i o \_g i R .
4, Draw the pgo_]ectloné of »a»m{de of 50:mm d1ameter resting in the H.P. on a point

A on the c1raum}‘ercncc,uats plane mchned at 45 to the H.P. and
a) The top v1cwoi' the d1ameter :AB making 307 angle withithe V.P.;

b) The diameter AB makmg 30 angle with the V. P, {7+8]
5. - A square prism, basé “40.mum’ Slde and height 65 mm, has its axis inclined at 45° to
- HP. and has an ¢édge of its’ base on the H.P and inclined at 300 to-the V.P. Draw
its projections. 151
‘ : OR
- 6. A cong, base 45 mm diameter and axis 55 mm long is resting on the H P. on.its -

. base. It is cut by a section plane perpendicular to both the H.P. and the V.P. and
' 6 mm away from the axis. Draw its front view, top view and sectional side view.

[15]

1. Draw the development of the lateral suiface of the pentagonal pyramid, the Iower

. part of which is removed as shown in fIgure 1. All dimensions are in mm. [15]
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(i) SQUARE FRUSTUM (i) DEVELOPEMENT OF
PYRAKMID: . “PYRAMID '
Figure: 1
OR

A vertical cyhnder of 80 mm diameter is completely penetrated by anothcr
cylinder of 60 mim diameter, fthelrwaxes bisecting each other at right angles. Draw
 their projections showmgf curves of penetration. Assuming the axis of the
penetrating cylinder to tl}e pafallel to thc V.P. - [15]

‘” ,-7’

Draw the views for the follewmg hgure 2.All.dimensions are in mm.
a) Front view 5*) Slde‘»avzevgw R ca Top view, . [5+5+5]

Figure: 2
OR




